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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, méhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Explain the nature and importance of Demography. 

tukafddh dh izd`fr ,oa egRo dh O;k[;k dhft,A 

2. Explain the factors affecting fertility. 

moZjrk vFkok iztuurk dks izHkkfor djus okys rRoksa dh 

O;k[;k dhft,A 

3. What is migration and analyse the factors affecting it ? 

What are the merits of migration ? 

izokl D;k gS  vkSj bldks izHkkfor djus okys rRoksas dh 

leh{kk dhft,A izokl ds D;k ykHk gSa \ 

4. Explain the composition of population of India 

according to 2011 census and evaluate population 

policy of India. 

2011 dh tux.kuk ds vk/kkj ij Hkkjr dh tula[;k dh 

lajpuk le>kb, ,oa Hkkjr esa tula[;k uhfr dk ewY;kadu 

dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. What is the use of life table ? 
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thou lkj.kh dk mi;ksx D;k gS \ 

2. Composition of United States of America and Japan’s 

demography. 

la;qDr jk”Vª vejhdk ,oa tkiku dh tukafddh; lajpukA 

3. What are the characteristics of urban life ? 

uxjh; thou dh D;k fo’ks”krk,¡ gSa \ 

4. Human Development Index. 

ekuo fodkl lwpdkadA 

5. Concept of Sustainable Development. 

lrr~ ;k /kkj.kh; fodkl dh vo/kkj.kkA 

6. National Literacy Mission. 

jk”Vªh; lk{kjrk fe’kuA 

7. Infant mortality rate and Child mortality rate. 

f’k’kq e`R;q nj ,oa cky e`R;q njA 

8. Theory of Demographic Transition. 

tukafddh; laØe.k dk fl)kUrA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 
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Choose the correct alternative : 

lgh fodYi pqfu, % 

1. Equation of Population theory of Dalton is : 

(a) 
A O

M
O


   

(b) 
1

N = M M   

(c) 
O B

Q


  

(d) 
O  –  A

M
O

   

MkYVu dk tula[;k fl)kUr dk lw= gS % 

¼v½ 
A O

M
O


  

¼c½ 
1

N = M M  

¼l½ 
O B

Q


 

¼n½ 
O  –  A

M
O

  

2. Birth and death rate being high is which stage of 

population change ? 

(a) Fourth  

(b) Second 

(c) First 

(d) Third 
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tUe nj ,oa e`R; nj nksuksa Å¡ph gksuk tula[;k ifjorZu dh 

dkSu&lh voLFkk gS \ 

¼v½ pkSFkh 

¼c½ nwljh 

¼l½ igyh 

¼n½ rhljh 

3. Minimum age of marriage of boys and girls in India 

was raised in which population policy ? 

(a) 2000 

(b) 1977 

(c) 1981 

(d) 1976 

ns’k esa yM+dksa ,oa yM+fd;ksa dh fookg dh U;wure vk;q dks 

fdl tula[;k uhfr esa c<+k;k x;k \ 

¼v½ 2000 

¼c½ 1977 

¼l½ 1981 

¼n½ 1976 

4. Nirmal Gram Puraskar is related to which area ? 

(a) education 

(b) nutrition 

(c) sanitation 

(d) training 
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fueZy xzke iqjLdkj fdl {ks= ls lEcfU/kr gS \ 

¼v½ f’k{kk 

¼c½ iks”k.k 

¼l½ LoPNrk 

¼n½ izf’k{k.k 

5. Which is not a factor of Physical Quality of Life Index ? 

(a) Per capita income 

(b) Infant mortality rate 

(c) Life expectancy 

(d) Literary rate 

fuEufyf[kr esa ls dkSu&lk thou dk HkkSfrd xq.koŸkk 

lwpdkad dk pj ugha gS \ 

¼v½ izfr O;fDr vk; 

¼c½ f’k’kq e`R;q nj 

¼l½ thou izR;k’kk 

¼n½ lk{kjrk nj 

6. Population Planning Programme was implemented in : 

(a) 1958 

(b) 1959 

(c) 1951 

(d) 1955 

ifjokj fu;kstu dk;ZØe ykxw fd;k x;k % 

¼v½ 1958 esa  
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¼c½ 1959 esa 

¼l½ 1951 esa 

¼n½ 1955 esa 

7. What is tax ratio ? 

(a) Number of females per thousand males 

(b) Number of females per hundred males 

(c) The study of population growth 

(d) Difference between birth rate and death rates 

fyax vuqikr D;k gS \ 

¼v½ izfr gtkj iq#”kksa ij efgykvksa dh la[;k 

¼c½ izfr lSdM+k iq#”kksa ij efgykvksa dh la[;k 

¼l½ tula[;k o`f) dk v/;;u 

¼n½ tUe nj ,oa e`R;q nj esa vUrj 

8. Which is the most populous country of the world ? 

(a) India 

(b) United States of America 

(c) China 

(d) Russia 

fo’o esa lcls T;knk tula[;k okyk ns’k dkSu&lk gS \ 

¼v½ Hkkjr 

¼c½ la;qDr jkT; vesfjdk 

¼l½ phu 

¼n½ :l 
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9. What year is considered a great demographic divided 

in India ? 

(a) 1911 

(b) 1921 

(c) 1931 

(d) 1751 

dkSu&lk o”kZ Hkkjr esa egku tukafddh; vUrj dk ekuk tkrk 

gS \ 

¼v½ 1911 

¼c½ 1921 

¼l½ 1931 

¼n½ 1751 

10. The most populous state of India is : 

(a) West Bengal 

(b) Kerala 

(c) Uttar Pradesh 

(d) Bihar  

Hkkjr esa lcls vf/kd tula[;k okyk jkT; gS % 

¼v½ if’pe caxky 

¼c½ dsjy 

¼l½ mŸkj izns’k 

¼n½ fcgkj 
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